VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

MOTORCYCLE SISSY BARS

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

VEVOR® MOTORCYCLE

TOUGH TOOLS, HALF PRICE SISSY BARS

MODEL: 1502

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



IMPORTANT SAFEGUARDS

/_\\ WARNING: Read and understand this entire manual before operating

I\ or servicing this product. Failure to follow these warnings and

instructions can cause personal injury or damage to valuable property.

1. Assemble only according to these instructions. Improper assembly can create
hazards.

2. Wear ANSI-approved safety goggles and heavy-duty work gloves during
assembly and use.

3. Keep the assembly area clean and well-lit.
4. Keep bystanders out of the area during assembily.

5. Do not assemble when tired or when under the influence of alcohol, drugs or
medication.

6. Product capabilities apply to properly and completely assembled product only.
7. For additional information regarding the parts listed in the following pages,
please refer to the Assembly Diagram of this manual. Unwrap and separate all
parts in a clean work area. Please keep small spare parts out of children's reach.

Specifications
Model Series 1502
Material Steel
Color Black
Fit for Harley




Package Contents

Part

Description

QTY

Rack

Back pad

Left bracket

Right bracket

M6*20 bolts

M6 washer

M6 nuts

B N

| N | O |~ W|DN

Manual

—




Installation Guide:

Step 1 Assembly the rack and both two bracket by bolts and nuts.




Step 2 Install the sissy bar on the motorcycle by the bolts which
existed on the motorcycle.




Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122

Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

UK

REP

EC

REP

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147, Centurion
House, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.



VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

SISSY BARS POUR MOTO

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.

« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par nous ne représente
qu'une estimation des économies que vous pourriez réaliser en achetant certains outils chez nous par rapport
aux grandes marques et ne couvre pas nécessairement toutes les catégories d'outils que nous proposons.

Nous vous rappelons de bien vouloir vérifier soigneusement lorsque vous passez une commande chez

nous si vous économisez réellement la moitié par rapport aux grandes marques.


https://www.vevor.com/support

Machine Translated by Google

VEVOR MoTo

TOUGH TOOLS, HALF PRICE BARRES SISSY

MODELE: 1502

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'une assistance technique ? N'hésitez pas

a nous contacter :

Assistance technique et certificat de garantie
électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes les
instructions du manuel avant de I'utiliser. VEVOR se réserve le droit d'interpréter
clairement notre manuel d'utilisation. L'apparence du produit dépend du produit

que vous avez regu. Veuillez nous excuser, nous ne vous informerons plus en cas de
mise a jour technologique ou logicielle de notre produit.



Machine Translated by Google

MESURES DE SECURITE IMPORTANTES

. AVERTISSEMENT : Lisez et comprenez l'intégralité de ce manuel avant d'utiliser

/ ou I'entretien de ce produit. Le non-respect de ces avertissements et

le non-respect de ces instructions peut entrainer des blessures corporelles ou des dommages a des biens de valeur.

1. Assemblez uniquement selon ces instructions. Un assemblage incorrect peut créer

dangers.

2. Portez des lunettes de sécurité approuvées par I'ANSI et des gants de travail robustes pendant
montage et utilisation.

3. Gardez la zone de montage propre et bien éclairée.

4. Gardez les spectateurs hors de la zone pendant le montage.

5. Ne vous assemblez pas lorsque vous étes fatigué ou sous l'influence de I'alcool, de drogues ou
médicament.

6. Les capacités du produit s'appliquent uniquement au produit correctement et complétement assemblé.

7. Pour plus d'informations sur les piéces répertoriées dans les pages suivantes, veuillez vous
reporter au schéma d'assemblage de ce manuel. Déballez et séparez tous les

Conserver les piéces détachées dans un espace de travail propre. Conserver les petites piéces détachées hors de portée des enfants.

Caractéristiques
Série de modéles 1502
Matériel Acier
Couleur Noir
Adapté pour Harley




Machine Translated by Google

Contenu du colis

Partie Description Qte
1 Etagére 1
2 Coussin dorsal 1
3 Support gauche 1
4 Support droit 1
5 Boulons M6*20 4
6 Rondelle M6 4
7 Ecrous M6 4
8 Manuel 1




Machine Translated by Google

Guide d'installation :

Etape 1 Assemblez le rack et les deux supports & l'aide de boulons et d'écrous.




Machine Translated by Google

Etape 2 Installez la barre sissy sur la moto a l'aide des boulons présents sur
la moto.




Machine Translated by Google

Fabricant : Shanghaimuxinmuyeyouxiangongsi
Adresse : Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Shanghai
200 000 CN.

Importé en Australie : SIHAO PTY LTD. 1 ROKEVA STREET EASTWOOD NSW 2122
Australie

Importé aux Etats-Unis : Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITEE.

A/S YH Consulting Limited Bureau 147, Centurion

REPRESENTAN] DU ROYAUME-UNI

Maison, London Road, Staines-upon-Thames,

Surrey, TW18 4AX

E-CrossStu GmbH

REPRESENTAN DE LA CE Mainzer Landstr.69,
60329 Francfort-sur-le-Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support

SISSY BARS FUR MOTORRADER

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.

LSparen Sie die Halfte*, ,Halber Preis" oder andere ahnliche Ausdriicke, die wir verwenden, stellen nur eine
Schétzung der Ersparnis dar, die Sie beim Kauf bestimmter Werkzeuge bei uns im Vergleich zu den groRen
Topmarken erzielen konnen, und decken nicht unbedingt alle von uns angebotenen Werkzeugkategorien ab. Wir

maochten Sie freundlich daran erinnern, bei lhrer Bestellung bei uns sorgféltig zu priifen, ob Sie im Vergleich

zu den groBen Topmarken tatsachlich die Halfte sparen.


https://www.vevor.com/support

Machine Translated by Google

VEVOR' oo

TOUGH TOOLS, HALF PRICE SISSY BARS

MODELL: 1502

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Sie haben Fragen zu unseren Produkten? Sie bendétigen technischen Support? Dann kontaktieren

Sie uns gerne:
Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgféltig durch, bevor Sie

das Gerat in Betrieb nehmen. VEVOR behalt sich eine klare Auslegung unserer Bedienungsanleitung
vor. Das Erscheinungsbild des Produkts richtet sich nach dem Produkt, das Sie erhalten

haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren, wenn es Technologie- oder

Software-Updates fur unser Produkt gibt.



Machine Translated by Google

WICHTIGE SICHERHEITSHINWEISE
Po _ N

WARNUNG: Lesen und verstehen Sie dieses Handbuch vollsténdig, bevor Sie es in Betrieb nehmen.
} oder Wartung dieses Produkts. Bei Nichtbeachtung dieser Warnungen und

Anweisungen kdnnen zu Verletzungen oder zur Beschadigung wertvoller Gegenstande fiihren.

1. Die Montage muss gemaR dieser Anleitung erfolgen. Eine unsachgeméafRe Montage kann

Gefahren.

2. Tragen Sie ANSI-zugelassene Schutzbrillen und schwere Arbeitshandschuhe wahrend
Montage und Verwendung.

3. Halten Sie den Versammlungsbereich sauber und gut beleuchtet.

4. Halten Sie wahrend der Montage unbeteiligte Zuschauer vom Bereich fern.

5. Montieren Sie nicht, wenn Sie mide sind oder unter dem Einfluss von Alkohol, Drogen oder

Medikamente.

6. Die Produktfunktionen gelten nur fir ordnungsgeméan und vollstéandig montierte Produkte.

7. Weitere Informationen zu den auf den folgenden Seiten aufgefiihrten Teilen finden Sie im Montagediagramm
dieses Handbuchs. Packen Sie alle

Ersatzteile in einem sauberen Arbeitsbereich. Bewahren Sie kleine Ersatzteile auRerhalb der Reichweite von Kindern auf.

Technische Daten

Modellreihe 1502

Material Stahl
Farbe Schwarz
Passend flir Harley




Machine Translated by Google

Packungsinhalt

Teil Beschreibung Menge
1 Gestell 1
2 Ruckenpolster 1
3 Linke Klammer 1
4 Rechte Klammer 1
5 M6*20 Schrauben 4
6 M6 Unterlegscheibe 4
7 M6 Muttern 4
8 Handbuch 1




Machine Translated by Google

Installationsanleitung:

Schritt 1: Montieren Sie das Gestell und die beiden Halterungen mit Schrauben und Muttern.




Machine Translated by Google

Schritt 2: Befestigen Sie die Sissy Bar mit den vorhandenen
Schrauben am Motorrad.




Machine Translated by Google

Hersteller: Shanghaimuxinmuyeyouxiangongsi
Adresse: Shuangchenglu 803nong11haol1602A-1609shi, Baoshanqu, Shanghai
200000 CN.

Nach AUS importiert: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australien

Importiert in die USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED.

UK REP C/O YH Consulting Limited Office 147, Centurion

N

Haus, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

Vertretkr der Eg|  Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

BARRE SISSY PER MOTO

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.

"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta
solo una stima del risparmio che potresti ottenere acquistando determinati utensili con noi rispetto ai
principali marchi principali e non significa necessariamente coprire tutte le categorie di utensili da noi

offerti. Ti ricordiamo gentilmente di verificare attentamente quando effettui un ordine con noi se

stai effettivamente risparmiando la meta rispetto ai principali marchi principali.


https://www.vevor.com/support

Machine Translated by Google

VEVOR "o

TOUGH TOOLS, HALF PRICE BARRE DI SUPPORTO

MODELLO: 1502

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sui prodotti? Hai bisogno di supporto tecnico? Non esitare a contattarci:

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Questa ¢ l'istruzione originale, si prega di leggere attentamente tutte le istruzioni del
manuale prima di utilizzare. VEVOR si riserva una chiara interpretazione del nostro manuale
utente. L'aspetto del prodotto sara soggetto al prodotto ricevuto. Vi preghiamo di

perdonarci se non vi informeremo di nuovo se ci sono aggiornamenti tecnologici o software sul
nostro prodotto.



Machine Translated by Google

IMPORTANTI MISURE DI SICUREZZA

. ATTENZIONE: leggere e comprendere l'intero manuale prima di utilizzare il prodotto

/ o la manutenzione di questo prodotto. La mancata osservanza di queste avvertenze e

istruzioni possono causare lesioni personali o danni a beni di valore.

1. Montare solo secondo queste istruzioni. Un montaggio non corretto pud creare

pericoli.

2. Indossare occhiali di sicurezza approvati ANSI e guanti da lavoro resistenti durante
montaggio e utilizzo.

3. Mantenere l'area di assemblaggio pulita e ben illuminata.

4. Tenere gli astanti fuori dall'area durante I'assemblea.

5. Non riunirsi quando si & stanchi o sotto I'effetto di alcol, droghe o

farmaco.

6. Le capacita del prodotto si applicano solo al prodotto correttamente e completamente assemblato.

7. Per ulteriori informazioni sulle parti elencate nelle pagine seguenti, fare riferimento allo schema di
montaggio di questo manuale. Disimballare e separare tutti i

parti in un‘area di lavoro pulita. Si prega di tenere le piccole parti di ricambio fuori dalla portata dei bambini.

Specifiche

Serie di modelli 1502
Materiale Acciaio

Colore Nero
Adatto per Harley




Machine Translated by Google

Contenuto della confezione

Parte Descrizione Quantita
1 Cremagliera 1
2 Imbottitura posteriore 1
3 Parentesi sinistra 1
4 Parentesi quadra destra 1
5 Bulloni M6*20 4
6 Rondella M6 4
7 Dadi M6 4
8 Manuale 1




Machine Translated by Google

Guida all'installazione:

Fase 1: assemblare il rack e le due staffe mediante bulloni e dadi.




Machine Translated by Google

Fase 2 Installare il sissy bar sulla motocicletta utilizzando i bulloni
gia presenti sulla motocicletta.




Machine Translated by Google

Produttore: Shanghaimuxinmuyeyouxiangongsi
Indirizzo: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Shanghai
200000 NC.

Importato in AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

Importato negli USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

CONSULENZA YH LIMITATA.

C/O YH Consulting Limited Ufficio 147, Centurion

RAPPRESENTANAA DEL REGNO UNITO

Casa, London Road, Staines-upon-Thames,

Viale della Vittoria, 18/A

E-CrossStu GmbH

Rappresentaifte della CE Mainzer LandStr'Ggl

60329 Francoforte sul Meno.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electrénica www.vevor.com/support

BARRAS DE RESPALDO PARA MOTOCICLETA

Seguimos comprometidos a brindarle herramientas a precios competitivos.

"Ahorre la mitad", "mitad de precio" o cualquier otra expresion similar que utilicemos solo representa
una estimacién del ahorro que podria obtener al comprar ciertas herramientas con nosotros en comparacion
con las principales marcas y no necesariamente significa que cubra todas las categorias de herramientas

que ofrecemos. Le recordamos que, al realizar un pedido con nosotros, verifique cuidadosamente si

realmente esta ahorrando la mitad en comparacion con las principales marcas.


https://www.vevor.com/support

Machine Translated by Google

VEVOR ® MOTOCICLETA

TOUGH TOOLS, HALF PRICE BARRAS SISSY

MODELO: 1502

¢(NECESITAS AYUDA? jCONTACTANOS!

¢ Tiene preguntas sobre el producto? ; Necesita asistencia técnica? No dude en ponerse en contacto
con nosotros:

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las instrucciones del manual
antes de utilizar el producto. VEVOR se reserva una interpretacion clara de nuestro manual de
usuario. La apariencia del producto estara sujeta al producto que recibié. Perdénenos por no
informarle nuevamente si hay actualizaciones de tecnologia o software en nuestro producto.



Machine Translated by Google

MEDIDAS DE SEGURIDAD IMPORTANTES

. ADVERTENCIA: Lea y comprenda todo este manual antes de operar

) o realizar el mantenimiento de este producto. El incumplimiento de estas advertencias y

No seguir estas instrucciones puede causar lesiones personales o dafios a bienes valiosos.

1. Realice el montaje Unicamente de acuerdo con estas instrucciones. Un montaje incorrecto puede provocar

peligros

2. Use gafas de seguridad aprobadas por ANSI y guantes de trabajo resistentes durante
montaje y uso.

3. Mantenga el area de reunion limpia y bien iluminada.

4. Mantenga a los transeuntes fuera del area durante el montaje.

5. No se retina cuando esté cansado o bajo la influencia del alcohol, drogas o

medicamento.

6. Las capacidades del producto se aplican Unicamente a productos ensamblados de forma correcta y completa.

7. Para obtener informacién adicional sobre las piezas que se enumeran en las paginas siguientes, consulte
el diagrama de ensamblaje de este manual. Desenvuelva y separe todas las piezas.

Guarde las piezas en un lugar de trabajo limpio. Mantenga las piezas de repuesto pequefias fuera del alcance de los nifios.

Presupuesto
Serie de modelos 1502
Material Acero
Color Negro
Apto para Harley




Machine Translated by Google

Contenido del paquete

Parte Descripcion CANTIDAD
1 Estante 1
2 Amohadila para a espalda 1
3 Soporte izquierdo 1
4 Soporte derecho 1
5 Pernos M6*20 4
6 Arandela M6 4
7 Tuercas M6 4
8 Manual 1




Machine Translated by Google

Guia de instalacion:

Paso 1 Ensamble el bastidor y los dos soportes con pernos y tuercas.




Machine Translated by Google

Paso 2 Instale la barra sissy en la motocicleta con los pernos que
existian en la motocicleta.




Machine Translated by Google

Fabricante: Shanghaimuxinmuyeyouxiangongsi
Direccién: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Shanghai
200000 MN.

Importado a Australia: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

Importado a EE. UU.: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITADA.

C/O YH Consulting Limited Oficina 147, Centurion

REPRESENTANTE DEL REINO UNIDO

Casa, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

REPRESENTANTE CE Mainzer Landstr.69,
60329 Francfort del Meno.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej www.vevor.com/support

SISSY BARS DO MOTOCYKLA

Nadal staramy sie oferowac¢ Panstwu narzedzia w konkurencyjnych cenach.
,Oszczedz potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez nas stanowig
jedynie szacunkowe oszczednosci, jakie mozesz uzyska¢, kupujac u nas okreslone narzedzia w
poréwnaniu z gtéwnymi markami i niekoniecznie oznaczajg one objecie wszystkich kategorii narzedzi
oferowanych przez nas. Uprzejmie przypominamy, aby doktadnie sprawdzi¢, czy sktadajgc u nas
zamoéwienie faktycznie oszczedzasz potowe w poréwnaniu z gtdéwnymi markami.


https://www.vevor.com/support

Machine Translated by Google

VEVOR'  ‘"oeow

TOUGH TOOLS, HALF PRICE PASEK SISSY

MODEL: 1502

POTRZEBUJESZ POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczgce produktu? Potrzebujesz wsparcia technicznego? Skontaktuj sie z
nami:

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczyta¢ wszystkie

instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukcji obstugi. Wyglad
produktu bedzie zalezat od produktu, ktéry otrzymates. Prosimy o wybaczenie, ze nie
poinformujemy Cie ponownie, jesli w naszym produkcie pojawig sie jakiekolwiek aktualizacje
technologiczne lub oprogramowania.



Machine Translated by Google

WAZNE ZABEZPIECZENIA
Po _ N

OSTRZEZENIE: Przed rozpoczeciem uzytkowania nalezy przeczyta¢ i zrozumie¢ catg instrukcje.

) lub serwisowania tego produktu. Nieprzestrzeganie tych ostrzezen i

instrukcji moze spowodowac obrazenia ciata lub uszkodzenie cennego mienia.

1. Montaz nalezy wykonywac wytacznie zgodnie z niniejszg instrukcja. Nieprawidtowy montaz moze spowodowac

zagrozenia.

2. Podczas pracy nalezy nosi¢ okulary ochronne i wytrzymate rekawice robocze zgodne z normg ANSI.
montaz i uzytkowanie.

3. Utrzymuj miejsce zgromadzenia w czystosci i zapewnij dobre oswietlenie.

4. Podczas montazu nie dopuszczaj oséb postronnych na teren montazu.

5. Nie nalezy gromadzi¢ sie, gdy jest sie zmeczonym lub pod wptywem alkoholu, narkotykéw lub
lek.

6. Mozliwosci produktu odnoszg sie wytgcznie do produktu prawidtowo i kompletnie zmontowanego.

7. Aby uzyskac¢ dodatkowe informacje dotyczace czesci wymienionych na kolejnych stronach,
zapoznaj sie ze schematem montazu w tym podreczniku. Rozpakuj i oddziel wszystkie

czesci w czystym miejscu pracy. Prosze trzymac mate czesci zamienne poza zasiegiem dzieci.

Specyfikacje
Seria modeli 1502
Tworzywo Stal
Kolor Czarny
Pasuje do Harley




Machine Translated by Google

Zawartos¢ opakowania

Czes¢ Opis 1L0SC
1 Stojak 1
2 Podktadka tylna 1
3 Lewy nawias 1
4 Prawy nawias 1
5 Sruby M6*20 4
6 Podktadka M6 4
7 Nakretki M6 4
8 Podrecznik 1




Machine Translated by Google

Instrukcja instalacji:

Krok 1 Zt6z stojak i oba wsporniki za pomocg Srub i nakretek.




Machine Translated by Google

Krok 2 Zamontuj sissy bar na motocyklu za pomoca $rub, ktére
byty wczesniej zamontowane.




Machine Translated by Google

Producent: Shanghaimuxinmuyeyouxiangongsi
Adres: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Szanghaj
200000 CN.

Importowane do AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

Importowane do USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED.
REP WIELKIE] BRYTANII C/0 YH Consulting Limited Biuro 147, Centurion

Dom, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

Przedstaw|ciel UE Mainzer Landstr.69,
60329 Frankfurt nad Menem.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

MOTORFIETS SISSY BARS

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.

"Save Half", "Half Price" of andere soortgelijke uitdrukkingen die wij gebruiken, geven alleen een schatting van de
besparingen die u kunt behalen door bepaalde gereedschappen bij ons te kopen in vergelijking met de grote topmerken
en betekent niet noodzakelijkerwijs dat alle categorieén gereedschappen die wij aanbieden, worden gedekt. Wij

herinneren u eraan om zorgvuldig te controleren of u daadwerkelijk de helft bespaart in vergelijking met de grote

topmerken wanneer u een bestelling bij ons plaatst.


https://www.vevor.com/support

Machine Translated by Google

VEVOR'  woowes

TOUGH TOOLS, HALF PRICE SISSY-BAR

MODEL: 1502

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust

contact met ons op:

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door voordat u het product

gebruikt. VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding voor.

Het uiterlijk van het product is afhankelijk van het product dat u hebt ontvangen. Vergeef ons

dat we u niet opnieuw zullen informeren als er technologie- of software-updates voor ons product zijn.



Machine Translated by Google

BELANGRIJKE VEILIGHEIDSMAATREGELEN

/‘ \\‘ WAARSCHUWING: Lees en begrijp deze volledige handleiding voordat u het apparaat bedient.

} of het onderhouden van dit product. Het niet opvolgen van deze waarschuwingen en

Het niet opvolgen van de instructies kan persoonlijk letsel of schade aan waardevolle eigendommen veroorzaken.

1. Monteer alleen volgens deze instructies. Onjuiste montage kan leiden tot

gevaren.

2. Draag tijdens het werk een door de ANSI goedgekeurde veiligheidsbril en stevige werkhandschoenen.
montage en gebruik.

3. Zorg ervoor dat de verzamelplaats schoon en goed verlicht is.

4. Houd omstanders uit de buurt tijdens de montage.

5. Kom niet bijeen als u moe bent of onder invloed van alcohol, drugs of

medicatie.

6. De producteigenschappen gelden alleen voor producten die correct en volledig zijn gemonteerd.

7. Voor aanvullende informatie over de onderdelen die op de volgende pagina's worden vermeld, raadpleegt
u het montageschema van deze handleiding. Pak alle onderdelen uit en scheid ze van elkaar.

onderdelen in een schone werkruimte. Houd kleine reserveonderdelen buiten bereik van kinderen.

Specificaties

Modelserie 1502
Materiaal Staal
Kleur Zwart
Geschiki voor Harley




Machine Translated by Google

Inhoud van het pakket

Deel Beschrijving Hoevestheid
1 Rek 1
2 Rugkussen 1
3 Linker haakje 1
4 Rechter beugel 1
5 M6*20 bouten 4
6 M6 ring 4
7 M6 moeren 4
8 Handmatig 1




Machine Translated by Google

Installatiehandleiding:

Stap 1 Monteer het rek en de twee beugels met bouten en moeren.




Machine Translated by Google

Stap 2 Monteer de sissybar op de motorfiets met behulp van de bouten
die al op de motorfiets zaten.




Machine Translated by Google

Fabrikant: Shanghaimuxinmuyeyouxiangongsi
Adres: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Shanghai
200000 CN.

Geimporteerd naar AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australié

Geimporteerd naar de VS: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED.

VK I?EP C/O YH Consulting Limited Kantoor 147, Centurion
Huis, London Road, Staines-upon-Thames,
Surrey, TW18 4AX

E-CrossStu GmbH

EC_ QEP Mainzer Landstr.69,

60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

MOTORCYKEL SISSY BARS

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.

"Spara halva", "halva priset" eller andra liknande uttryck som anvands av oss representerar bara
en uppskattning av besparingar du kan dra nytta av att kopa vissa verktyg hos oss jamfért med de
stora toppmarkena och betyder inte nédvandigtvis att tdcka alla kategorier av verktyg som erbjuds av

oss. Du paminns vanligen om att noggrant kontrollera nar du goér en bestallning hos oss om du

faktiskt sparar halften i jamforelse med de framsta stora varumérkena.


https://www.vevor.com/support

Machine Translated by Google

VEVOR ® MOTORCYKEL

TOUGH TOOLS, HALF PRICE SISSY BARER

MODELL: 1502

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfragor? Behoéver du teknisk support? Kontakta oss garna:

Teknisk support och e-garanticertifikat
www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1&s alla instruktioner noggrant innan du

anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet
pa produkten ar beroende av den produkt du fatt. Ursakta oss att vi inte kommer att

informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

VIKTIGA SAKERHETSATGARDER

VARNING: Las och férstd hela denna bruksanvisning innan du anvéander den

eller serva denna produkt. Underlatenhet att folja dessa varningar och

instruktioner kan orsaka personskada eller skada pa vardefull egendom.

1. Montera endast enligt dessa instruktioner. Felaktig montering kan skapa
faror.

2. Bar ANSI-godkéanda skyddsglasdgon och kraftiga arbetshandskar under
montering och anvandning.

3. Hall monteringsomradet rent och val upplyst.

4. Hall askadare borta frdn omradet under monteringen.

5. Montera inte nar du &r trétt eller paverkad av alkohol, droger eller
medicin.

6. Produktens kapacitet galler endast for korrekt och fardigmonterad produkt.

7. For ytterligare information om delarna som listas pa foljande sidor, se
monteringsdiagrammet i denna manual. Packa upp och separera allt

delar i ett rent arbetsomrade. Férvara sma reservdelar utom rackhall for barn.

Specifikationer

Modellserie 1502
Material Stal
Farg Svart
Passar for Harley




Machine Translated by Google

Paketets innehall

Del Beskrivning ANTAL
1 Kuggsténg 1
2 Ryggdyna 1
3 Vénster faste 1
4 Hoger faste 1
5 M6*20 bultar 4
6 M6 bricka 4
7 M6 muttrar 4
8 Manuell 1




Machine Translated by Google

Installationsguide:

Steg 1 Montera stativet och bada tva fasten med bultar och muttrar.




Machine Translated by Google

Steg 2 Installera sissy bar pa motorcykeln med bultarna som fanns
pa motorcykeln.




Machine Translated by Google

Tillverkare: Shanghaimuxinmuyeyouxiangongsi
Adress: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Shanghai
200 000 CN.

Importerad till AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australien

Importerad till USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED.

U K QEP C/O YH Consulting Limited Office 147, Centurion
House, London Road, Staines-upon-Thames,

Surrey, TW18 4AX

E-CrossStu GmbH

EC REP Mainzer Landstr.69,

60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

	Specifications
	Installation Guide:

